FEHAMBAERASER (9 AXMK) 51 XEHBRSHEE

K ZHRES 7 ] ZRES
7 —HREHE1 70022 YRR (EALE) 0001
7 —HREHE1 70024 YRR (EALE) 70003
7 —HREHE1 70026 I f=24 T0001
7 —HREHE1 70029 I f=24 10002
7 —HREHE1 70038 I f=24 10003
7 —HREHE1 70053 A EBA 70007
7 —HREHE1 70054 A EBA 50010
7 —HREHE1 70055 A EBA 50012
7 —HREHE1 70063 A EBA 50014
7 —HREHE1 70072 A EBA 50015
7 —HREHE1 70076 A EBA 70026
7 —HREHE1 70085 A EBA 50027
7 —HREHE 70088 F X 30002
7 —HREHE1 70091 F X 0003
7 —HREHE1 70096  BEA 40003
7 —HREHE1 70101 A B A0001
7 —HREHE1 70105 A B A0002
7 —HREHE1 70107 A B A0003
7 —HREHE1 70114 2 FHIEE 40002
7 —HREHE1 70120 2 FEHE 420004
7 —HREHE1 70122 2 FEE 20012
7 —HREHE1 70124 2 FEE 20013
7 —HREHE1 70126 2 FEHE 20016
14 —HEHF2 40002 2 FIEHE 420020
14 —HEHF2 40010 2 FHIEE 20021
14 —HEHF2 40018 2 FHIEH 20026
14 —HEHF2 40019 2 FHIEE 20027
14 —HEHF2 40023 2 FEHE 20028
14 —HEHF2 40030 2 FEHE 20030
14 —HEHF2 40035 2 FIEHE 20036
14 —HEHF2 40037 2 FEHE 20038
14 —HEHF2 4 0040 2 FIEHE 20039
14 —HEHF2 40042 A SISE 20042




TS & HHTREFRARRERIR
X5 BEMNS EA HEAH | FAEGH |1 x2BEGH |1 REREGH| 1REXE
9AEM Vs —HEEH 1 127 97 23 4.2
9AEM 1 —HEH2 7 45 40 10 4.0
9HE "7 —REH (EHFLE) 2 5 4 2 2.0
0OFEME | T it 1 3 3 3 1.0
9AEM h JHBA 1 21 23 1 3.3
9A =Tk * TRA1 1 4 3 2 1.5
OAEm | E 3 3 2 1 2.0
9AEM R REH 1 2 3 3 3 1.0
9AEM 3 5 5 ) 42 42 15 2.8




